
ABBSOFT COMPUTERS


Production & Planning Control
1-Marks Questions
Qs 1. Strategic planning, tactical planning and operational planning are the levels of ------

1.     Planning

2.     Production

3.     Production planning
4.     None of the above

Qs 2. Strategic planning is a process of thinking by ----------- mgmt.

1.     Top
2.     Middle

3.     Lower

4.     None of the above

Qs 3. ---------- is done on intermediate term by the middle level mgmt. by focusing on aggregates rather than individual specific products.

1.     Strategic planning

2.     Tactical planning
3.     Operational planning

4.     All of the above

Qs 4. Operational planning is done over short-range time span by junior level mgmt and is concerned with utilization of existing facilities rather than creation of the new facilities.

1.     True
2.     False

Qs 5. Systems of PPC, ------------- and inventory policy depends on the positioning decisions.

1.     Cost

2.     Scheduling
3.     Reliability

4.     Quality

Qs 6. Modular production, Group technology and Automation are the new techniques adopted in -----------

1.     Production

2.     Mass production
3.     Planning

4.     Planning and control

Qs 7. PPC stands for --------------

1.     Production planning and control
2.     Production plan and communication

3.     Product plan and control

4.     Project planning and control

Qs 8. CRP means ---------------------

1.     Controlled rate planning

2.     Capacity requirement planning
3.     Capacity reliability planning

4.     Control requirement planning

Qs 9. MRP expands as ------------

1.     Marketing requirement planning

2.     Material rate plan 

3.     Material requirement planning
4.     Marketing rate planning

Qs 10. ---------------------- Control observes rejected materials and works in progress, not fulfilling the quality standards and are replaced.

1.     Quality

2.     Method

3.     Planning

4.     Replacement
Qs 11.Control of planning obtain all the data on forecasts from -----------------and material data from material mgmt. group before preparing routing process.

1.     Sales

2.     Production 

3.     Planning

4.     All of the above
Qs 12. PPC is not a mgmt. tool 

1.     Correct

2.     Incorrect
Qs 13.Dispatching, inspection, expediting and evaluating are the tasks and control activities of -------------- 

1.     Production 

2.     Control

3.     Production control
4.     None of the above

Qs 14. Routing prescribes the flow of work in the plant and is related to considerations in layout location of storage of raw materials and the material handling systems used.

1.     True
2.     False

Qs 15. ----------production refers to a large quantity of production of standardized products having less variety and used when there is a continuous demand.

1.     Mass
2.     Control

3.     None of the above 

4.     Both 1 and 2 are correct

Qs 16. LOB (Line of Balance) is useful when batches are split and jobs progress is reviewed periodically. Shortages and non-conformances to schedule are identified and line is balanced

1.     Valid statement
2.     Invalid statement

Qs 17. The objective of the aggregate operation’s plan is to ----------the cost of resources required to meet the demand over that period.

1.     Maximize

2.     Minimize
3.     Optimize 

4.     Average

Qs 18. RCP stands for -----------------

1.     Rough-Control Planning system 

2.     Route-Cut Plan system 

3.     Rough-Cut Planning system 
4.     Route-Control Planning system 

Qs 19. The family concept of production is used by grouping the similar components requiring the particular operations in ------------ 

1.     Modular production

2.     Group technology
3.     Automation

4.     All of the above

Qs 20. Good forecasting is the foundation of good operations mgmt.

1.     Correct
2.     Incorrect

Qs 21. Reliable and accurate --------------- helps the mgmt. to determine manpower and other resource requirements.

1.     Prediction

2.     Forecasting
3.     Controlling

4.     Planning

Qs 22. ----------costs are the variable costs of keeping items on hand including interest charges, storage , handling , taxes , insurance and shrinkage

1.     Holding

2.     Ordering

3.     Carrying 

4.     Both 1 and 3 are correct
Qs 23. Time period between two successive orders is called -------

1.     Demand

2.     EOQ

3.     Optimum LOT size

4.     Ordering cycle
Qs 24. ------------inventory is a function of serving demand during the lead time, which can be adjusted by reducing the lead time required for production.

1.     Pipeline
2.     Anticipated

3.     Cycle

4.     Safety stock 

Qs 25. ABC classification techniques means -----------

1.     Always be careful

2.     All Better Controls

3.     Automation between Controls

4.     Always better control
Qs 26. Operations scheduling is the heart of manufacturing excellence system (MES)

1.     Valid
2.     Invalid

Qs 27.An MES is system that schedules, dispatches, tracks, monitors and controls production on the shop floor.

1.     Correct
2.     Incorrect

Qs 28. FMS stands for  ---------------

1.     Flexible manufacturing system
2.     Float manufacturing system

3.     Fluid monitoring system

4.     Frequent monitoring system

Qs 29. ------------method minimizes the bias and error of judgment

1.     Market trail

2.     Opinion survey

3.     Nominal group

4.     Delphi
Qs 30 SES means  ---------------

1.     Sequence exponential smoothing

2.     Serial extent smoothing

3.     Simple exponential smoothing
4.     Serial efficient smoothing 

Qs 31. The costs that are incurred as a result of running out of stock are known as ---------cost

1.     Shortage out

2.     Stock out

3.     Both 1 and 2
4.     None of the above

Qs 32. VED is used in context of 

1.     Planning

2.     Control

3.     Production

4.     Inventory
Qs 33. B-class items contribute about 30% of the total number of items and represent once again 30% of the total expenditure on materials.

1.     Correct

2.     Incorrect
Qs 34. ----------------- these class items constitute about 70% in number but account for only 10 % of the total expenditure on materials

1.     A-class

2.     B-Class

3.     C-Class
4.     All of the above

Qs 35. ------------- indicates the need for more resources or for reassigning of resources when the load at one work centre becomes too large

1.     PERT chart

2.     Gantt chart
3.     Flow chart

4.     DFD

Qs 36. Gantt chart does not directly reveal cost of alternate loadings as the processing times may vary among work centers.

1.     True
2.     False

Qs 37. ---------- Chart does not give information of the due date requirement of each job

1.     PERT chart

2.     Gantt chart
3.     Flow chart

4.     DFD

Qs 38. -----------load chart does not account for delays and disruptions at the work centers

1.      PERT chart

2.     Gantt 
3.     Flow chart

4.     DFD

Qs 39. The job that requires the least of shortest time is processes first in --------------

1.     Shortest processing time
2.     Longest processing time

3.     Least slack

4.     Slack time remaining

Qs 40. EOD means ------------
1.     Electronic due data

2.     Earliest due date
3.     Earliest due data

4.     Early dynamic date

2-Marks Questions

Qs 41 (i). The cost involved in changing over a machine to produce a different component or item is called the ------- cost.

1. fixed

2. variable

3. setup

4. none of the above

(ii)The length of time between placing an order and receipt is called lead time or lag time.

1. True

2. False

Qs 42----------- is referred to as a model used to determine the optimal order size that minimizes the total ------------- cost.

1. EPQ, inventory

2. EOQ, inventory

3. EOQ, Fixed

4. EPQ, variable

Qs 43 ---------- and ------------ relationship have drastically reduced the time needed for price comparing check product availability, make purchases and to satisfy the increased expectations of customers.

1. B2C , B2B

2. C2B, many

3. one to many, many-to-many

4. all of the above

Qs 44. ---------------- pertains to establish both timing and use of resources within an organization. Scheduling relates to use of equipment and facilities, human activities and 

----------------- of materials

1. scheduling, sending

2. scheduling, receipt

3. Inventory, sending

4. Inventory, receipt

Qs 45. (i)Production schedule does not consist of machine loading charts, workforce rosters and materials requisition sheets and specify the items to be produced with quantities.

1. Correct

2. Incorrect

(ii)MPS stands for Master production schedules 

1. True

2. False

Qs 46. (i) MES means ------------

1. Manufacturing excellence system

2. Marketing efficient system

3. Manual energy system

4. Marketing energy system 

(ii) Customer demand, customer deliver dates and dealer / retailer inventories refers to

---------- factors which governs the scheduling.

1. Internal

2. Intermediate

3. External

4. all of the above

Qs 47. (i) Backward scheduling is not an approach where the customer orders are processed as late as possible so that they are finished and delivered exactly on their due dates.

(ii) Routing is not planning process that determines the best route for manufacturing.

1. (i) True(ii)False

2. (i) False(ii)False

3. (i) True(ii)True

4. (i) False(ii)True

Qs 48. --------- scheduling is an approach where the customer orders are immediately processed as soon as they come in if their due dates are far away. -------------------- is a process of determining the orders in which jobs should be processed and also the planning of individual work stations

1. Backward , Sequencing

2. Forward, sequencing

3. Backward, routing

4. Forward, routing

Qs 49 (i) PERT /CPM charts are made to identify the critical path

(ii) Queuing system consists of the waiting line and the number of work stations in the line.

1. (i) True(ii)False

2. (i) False(ii)False

3. (i) True(ii)True

4. (i) False(ii)True

Qs 50. The amount of time required to complete a group of jobs is called ----------- and sum of scheduled receipts plus on hand inventory of all items is called ------------

1. job flow time, make span

2. make span, total inventory

3. total inventory, make span

4. all of the above are correct combinations

Qs 51. (i) Dispatching procedures determine the job to process with the help of Priority sequencing rules.

1. True

2. False

(ii) Critical ratio = (Due date – Today’s date) / (Total shop time remaining)
1. True

2. False

Qs 52. ----------- method is used for scheduling large and unique project in which relationship between the activities are quite intricate. The method overcomes the deficiencies of Gantt chart. PERT / GANTT charts are made to identify the ---------

1. Critical Path, Path

2. Gantt chart, Critical path

3. PERT chart, Critical path

4. Critical path , Critical path

Qs (i)53. Risk mgmt. is an approach to mitigate the risk and manage 

(ii) Cost saving means lowering of the overall cost of the service to the business

1. (i)Incorrect, (ii)Incorrect

2. (i)Incorrect, (ii) Correct

3. (i)Correct, (ii)Correct

4. (i)Correct, (ii)Incorrect
Qs 54 (i) ---------- is the movement of internal business processes to an external company

(ii) ----------describes the relocation by a company of a business process from one country to another typically an operational process. 

1. (i)In shoring (ii)Off-shoring

2. (i)production Outsourcing (ii)Off-shoring

3. (i)Outsourcing (ii)Off-shoring

4. (i)Outsourcing (ii)Off-shoring

Qs 55. ---------- ------------- is a simple and practical method used for FC for new products where the opinions are collected from prospective buyers regarding why  they buy and what they expect out of those  products.

1. Qualitative opinion and judgmental methods

2. Opinion survey method

3. Market research method

4. Delphi technique

Qs 56. ------------  and    -----------------is a method that translates the opinions of managers, experts in the field, consumer surveys and sales force estimates into quantitative estimates.

1. Qualitative opinion , judgmental methods

2. Opinion survey and critical survey method
3. Market research and Delphi method

4. Delphi technique, Time Series Method

Qs 57. (i)In time series method it is assumed that the past data is a good indicator of the future and hence lot of assumptions are made here while making a quantitative forecast.

(ii) Simple average, simple moving average and exponential smoothing are not the methods of time series methods

1. (i) True(ii)False

2. (i) False(ii)False

3. (i) True(ii)True

4. (i) False(ii)True

Qs 58. -----------    in this the primary action is streamlining the methods for placing orders making least setups , reducing ordering and ------------cost.

1. cycle inventory, set up
2. safety stock inventory, stock out

3. Anticipated inventory, setup

4. Pipeline inventory, stock out

Qs 59.  Pipeline inventory is a function of serving ----------during the lead time, which can be adjusted by reducing the ----------required for production.

1. Quality, lag time

2. Time, lead time

3. demand, lag time

4. demand, lead time

Qs 60 Scheduling is defined as the ---------- to the facility with specific times and the

-------------------- in which the work is required to be done.

1. Assignment of work, sequence

2. Routing of work, sequence

3. Routing of work, indexing

4. none of the above

4- Marks Questions

Qs 61. (i) In ------------- inventory new products are added to the production line with different demand cycles so that a peak in the demand for one product compensates the seasonal low of the other product 

1. cycle 

2. safety stock 

3. Anticipated 

4. Pipeline 

(ii) ---------is the additional stock of materials to be maintained to meet the unanticipated increase in demand arising out of uncontrollable factors.

1. cycle inventory 

2. safety stock inventory

3. Anticipated  inventory

4. Pipeline inventory

(iii)---------- items contribute 20 % of the total number of items and represent about 20% of the total expenditure on materials. 

1. A-Class

2. B-Class

3. C-Class

4. none of the above

(iv)----------- Model is used when demand is known in advance 

1. Deterministic

2. Probabilistic

3. Prototype

4. Inventory

Qs 62 Match the following

Index                          Type of cost

(i)   A                         (a) Set up cost

(ii)  B                         (b) Shortage cost

(iii) C                         (c) Ordering cost

(iv) D                         (d) Holding cost 

1. (i)-b,(ii)-d,(iii)-a(iv)-c

2. (i)-c,(ii)-a,(iii)-d(iv)-b

3. (i)-c,(ii)-d,(iii)-a(iv)-b

4. (i)-d,(ii)-c,(iii)-a(iv)-b

Qs 63. (i) -----------procedures determine the job to be processed with the help of Priority sequencing rules

1. Dispatching, 

2. Routing

3. sequencing

4. Scheduling 

(ii)FOR expands as -------------

1. Far operations remaining

2. Fewest operations remaining

3. First operational Rule

4. Frequent operational Rule

(iii) -----------method assigns job to the best machine until its capacity is exhausted and then remaining jobs are assigned to next best machine and so on.

1. Index

2. Scheduling  

3. Critical path

4. Mathematical programming methods

(iv) SPT stands for -------------

1. shortest progress time

2. sequence processing technique

3. shortest processing time

4. slack  per time

Qs 64. (i) Johnson’s rule is used to determine the sequence of order for a series of  jobs to be processed on a fixed number of machines.

(ii)The basis for the sequencing is that the total time required to complete all jobs should be maximum therefore it reduces the idle times of all machines

(iii) Johnson’s rule is a procedure that maximizes total cycle time in scheduling groups of jobs on two workstations and works with the condition that the sequence of jobs at the two work stations is identical and hence priority assigned to a job should be the same at both the ends.

(iv) A queue system is a priority rule for determining the order of service to customers in the waiting line.

1. (i)-True(ii)-False(iii)True(iv)False

2. (i)-True(ii)-False(iii)-False(iv)-True

3. (i)-False(ii)-False(iii)-False(iv)-True

4. (i)-True(ii)-False(iii)-True(iv)-True

Qs 65 (i) with infinite loading jobs are assigned to work centers without regards for capacity of the work centre. Jobs are loaded at work centers according to the chosen priority rule; this is known as -------------- loading. With finite loading the scheduler loads the job that has the highest priority on all work centers. Then the job with the next highest priority is loaded on all required work canters and so on, this process is referred to as ---------- loading

1. vertical, horizontal

2. horizontal, vertical

(ii) Production scheduling is a ---------and cumbersome process when attempted by manual process. Computer based tools and --------- are available for better scheduling.

1. slow, hardware

2. fast, software

3. slow, software

4. fast , hardware

Qs 66. (i) Automation means autonomous defects control depends on both --------------- shop devices and the workers ----------

1. formal, attitude

2. standard, unity

3. automatic, truth ness

4. automatic, teamwork

(ii)A work centre is an area in which -------- and work is completed. Production schedule consists of ----------- and specify the items to be produced with their quantities.

1. productive resources are organized  , workforce rosters

2. resources, loading charts

3. planning, materials requisition sheets 

4. scheduling , all of the above

Qs 67. Match the Column A with Column B

       Column A  
  Column B

1. Loading
(a)Monitor progress take corrective actions to minimize deviations

2. Routing           (b)Assigning jobs to various machines in the work centers
3. Follow up       (c)Granting permission to commence production

4. Dispatching   (d) Assigning the best route for production of a product

1. 1-d,2-b,3-a,4-c

2. 1-b,2-d,3-a,4-c

3. 1-b,2-d,3-c,4-a

4. 1-c,2-d,3-a,4-b

Qs 68.Resouces like investment, people and ------------are focused on developing the core business. Core restructuring is a measure that compares -----------costs to ----------cost . -------------------  Mgmt. is an approach to mitigate the risk and manage.

1. Mgmt, fixed, variable, planning

2. cost, assets, variable , scheduling

3. Infrastructure, fixed, variable, risk 

4. Cost, over, variable, scheduling

Qs 69.  (i)Quality of service is measured through a service level agreement in the contract

(ii)outsourcing is the transfer of the delivery of services which affects both jobs and individuals.

(ii)Strategic sourcing is an institutional process that continuously never improves and re-evaluates the purchasing activities of a company 

(iii)Offshore outsourcing for the purpose of saving cost may lead to a negative influence on the real productivity of a company.

(iv)Optimization utilizes mathematical algorithm to rapidly solve a business problem by evaluating all possible outcomes and select ones that yield the best solution.

1. (i)-True(ii)-False(iii)True(iv)True

2. (i)-True(ii)-False(iii)-False(iv)-True

3. (i)-False(ii)-False(iii)-False(iv)-True

4. (i)-True(ii)-False(iii)-True(iv)False

Qs 70. -----------involves the transfer of the mgmt. and or execution of a business function to an external service provider. Business ethics also known as ---------- ethics. In a production environment strategic sourcing is often considered as one of the component of  

--------------. Multi-sourcing is a framework that enables different parts of the client business sourced from different ----------------

1. Outsourcing, cultural, supply chain, distributors

2. Outsourcing, professional, supply chain, suppliers

3. sourcing , professional, mgmt. , suppliers

4. off shore outsourcing, cultural, chain mgmt, distributors

Qs 71. Match different types of production types with Scheduling method

Production Type



Scheduling Method

1. Continuous process


(a)Infinite forward scheduling

2. High volume process


(b)Infinite loading ,priority control

3. Mid-Volume Process


(c) Finite forward

4. Low volume more variety

(d) Finite forward and parts are pulled for 

                                                                        JIT systems

1. 1-d,2-b,3-a,4-c

2. 1-c,2-d,3-b,4-a

3. 1-b,2-d,3-c,4-a

4. 1-c,2-d,3-a,4-b

Qs 72. (i) LSU stands for least setup

(ii) LWR means least work regulating

(iii) LDS means least dynamic slack

(iv) CR means critical ratio scheduling

1. (i)-True(ii)-False(iii)True(iv)True

2. (i)-True(ii)-False(iii)-False(iv)-True

3. (i)-False(ii)-False(iii)-False(iv)-True

4. (i)-True(ii)-False(iii)-True(iv)False

Qs 73. (i) Qualitative –Opinion and Judgment method are the methods classified for ------
1. Forecasting

2. Prediction

3. Marketing

4. all of the above

(ii) Qualitative methods are subjective and judgmental and are normally based on the -------------- and -------------- . Time series and least square methods are using the ---------- data that are collected for the purpose over a period of time to predict the future trend before deciding the forecast figures.

1. opinions, estimates, numerical

2. views, predictions, controlled

3. perspectives , predictions, calculations

4. marketing , planning, controlled

Qs 74. Delphi method is a tedious and time consuming method in this method ------------- are difficult to resolve. In Nominal Group Technique the panel of experts work together to arrive at a consensus thro’ -------------while Time series method addresses the -----------

And ------------- pattern of demands

1. Deadlock, Group Discussion., horizontal, vertical

2. Scheduling , Discussion., horizontal, vertical

3. Deadlock, Discussion., horizontal, seasonal

4. Planning, Prediction , Horizontal, vertical

Qs75(i)Forecasting is based on the projection from time series data smoothed by a moving average, taking trends and seasonal variations, requires previous year data.

(ii) Casual forecasting is used in short and medium range forecasting of existing products, in setting of marketing strategies, production and facility planning

(iii)Delphi technique is an interactive learning process though the group of experts in the field responding to a set of questionnaire and hence a subjective method of relying on the opinion of a few experts.

(iv)Anticipated stock is the additional stock of materials to be maintained to meet the unanticipated increase in demand arising out of uncontrollable factors

1. (i)-True(ii)-False(iii)True(iv)True

2. (i)-True(ii)True(iii)True(iv)False

3. (i)-False(ii)-False(iii)-False(iv)-True

4. (i)-True(ii)-False(iii)-True(iv)False
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